Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS v approved equal meets the bid spec tested and approve Sample Submis	will accept an (1) as long as it cification and (2) ed through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1003	SERVINGS	Biscuits - Round, IQF, oven ready, pre-portioned, pre-formed frozen dough with uniformity of size. Must provide 2 oz or grain per USDA Child Nutrition Program Guidelines. Must be transfat free. Approximate Pack: 240-2.2 oz Biscuits per case. Ship Lot: 500 cases		200,000	Rich's 06063	Rich's 06063	2%10/ Net 11	240	\$0.16	\$37.39	833	\$31,158.33	70	10 days	5,000 lbs minimum	AWARD
1007	SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. Made with coarse ground dark turkey meat. No more than 600mg sodium per serving. Approximate Pack: 96 3.0 oz. servings per case. Ship Lot: 300 cases	Jennie - O -613620	100,800	Jennie-O - 613620	Jennie-O - 613620	Net 30	96	\$0.81	\$77.4 0	1050	\$81,270.00	80 Cases	14 Days		AWARD
1009	SERVINGS	Cheeseburger Twins, Pre-packaged - Two char- grilled mini cheeseburgers. Fully cooked burgers each burger on a whole grain bun. No soy or protein additives as a meat alternate. Must meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition Program. Packed 72/case. If packed differently, please indicate. Ship Lot: 200 cases	Don Lee - QCB655 Bakercrafters 6692	100,800	GOODMAN FOOD PRODUCTS dba DON LEE FARMS, CB640	DON LEE FARMS, CB640	NET 30 DAYS	72	\$1.11	\$79.92	1400	\$111,888.00	36 CASES	10-14 BUSINESS DAYS	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.	AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS 1 approved equal meets the bid spe tested and approve Sample Submis	will accept an (1) as long as it cification and (2) ed through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1010	SERVINGS	Croissant, Cheese, IW - Whole grain Croissant with a blend of American and Mozzarella cheeses. Individually wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. To contain no more than 725 mg. sodium. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 400 cases	Tasty Brands 70079 Bakecrafters 6709	100,800	Bake Crafter 6709	6709	NET 14	72	\$0.91	\$65.72	1400	\$92,008.00	48	3 weeks		AWARD
1014	SERVINGS	Chipotle Steak Crumbles- Ground beef crumbles with a low sodium chipotle flavored seasoning. Frozen. No soy, vegetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat alternate for the child nutrition program. Packed approximately 4/5 lb bags per case. Approximately 128 servings per case. Please indicate if packed differently. Ship Lot: 500 cases		153,600	Albie's/Pieper's 23315	Albie's/Pieper's 23315	Net 14	128	\$1.00	\$128.00	1200	\$153,600.00	\$80.0000	21 days	4 pallets/ 320 cases minimum	AWARD
1019	SERVINGS	100% Char-Broiled Beef Steak Burger With Natural Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. 100 percent beef serving to provide a minimum of 2.5 ozs. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 160 - 3.0 oz. servings per case and please state pack size if different. Ship Lot: 300 cases	No Approved Brands	200,000	GOODMAN FOOD PRODUCTS dba DON LEE FARMS, CN093003	GOODMAN FOOD PRODUCTS dba DON LEE FARMS, CN093003	NET 30 DAYS	160	\$0.92	\$147.90	1250	\$184,875.00				AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS v approved equal meets the bid spec tested and approve Sample Submis	will accept an (1) as long as it cification and (2) d through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1071	SERVINGS	Chicken, Shredded - Sous Vide prepared chicken, lightly seasoned, low sodium frozen pulled/shredded pieces. Must have a blend of dark and white meat. All natural with no antibiotics. Serving to equal 2 oz. m/ma for the CN program. CN labeled or product formulation sheet required for crediting. Approximately 293 servings per case. Ship Lot: 300 cases	Comida Vida 470490	263,700	International Food Solutions, Inc. Product Code: 470490	Comida Vida 47090	Net30 for schools. Net15 for distributors	293	\$0.64	\$188.10	900	\$169,290.00	40	15-19 Business Days	Price not valid thru Dot Foods, a redistributor.Min.delivery is 6 pallets. No mixed products w/in a pallet. Details in Order Terms	AWARD
1076	SERVINGS	General Tso Chicken - Fully cooked, whole grain breaded, whole muscle chicken chunks with General Tso sauce. Must not contain msg or soy protein. Must be nut free. Each serving must provide 2.00 oz meat/meat alternate for the Child Nutrition Program. Approximate pack size to include 6/5 lb chicken bags and 6/32 oz sauce bags. Please indicate number of servings. Ship Lot: 400 cases	Yang's 5th Taste 852724155630 Aisian Food Solutions 72003	211,200	International Food Solutions, Inc. Product Code: 72003	Asian Food Solutions 72003	Net30 for schools. Net15 for distributors	176	\$0.88	\$155.25	1200	\$186,300.00	\$32.0000	15-19 Business Days	Price not valid thru Dot Foods, a redistributor.Min.delivery is 6 pallets. No mixed products w/in a pallet. Details in Order Terms	AWARD
1092		Lasagna, Vegetarian, Whole Grain, Frozen. Ingredients consist of low fat Ricotta and ribbed shells. CN labeled to provide 2.0 oz. meat/meat alternative and 1 oz. grain equivalents for the Child Nutrition program. Approximate 110 servings) per case. Ship Lot: 300 cases	Tasty Brands 00801WG	110,000	Tasty Braands 00801WG	Tasty Braands 00801WG	1%10, Net 20	110	\$0.79	\$87.35	1000	\$87,350.00	\$60.0000	14 days	5000# minimum ship	AWARD
1093		Pepperoni Pizza Mini Bagels, Whole Grain, Frozen. CN labeled to provide 2.0 oz. meat/meat alternative, 2 oz. grain equivalents and 1/8 c. red- orange vegetable for the Child Nutrition program. Approximate 96 servings per case. Ship Lot: 300 cases	Tasty Brands 52223	115,200	Tasty Brands 52223	Tasty Brands 52223	1%10, Net 20	96	\$0.91	\$87.69	1200	\$105,228.00	40	14 days	5000# minimum ship	AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS approved equal meets the bid spe tested and approve Sample Submis	will accept an (1) as long as it cification and (2) ed through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1254	SERVINGS	Smoked and Seasoned Pulled Pork with vinegar marinade. Fully cooked pit pork BBQ made from commodity picnic boneless pork shoulder. Marinated in a Carolina Vinegar/semi dry sauce for moisture with a 1/4" trim. Pulled, not mechanically processed or chopped. Packed in sealed containers. CN label or crediting statement must be provided to show serving size equal to 20z. per the CN program standards. Approximate Pack: 8/5lb containers Ship Lot: 400 cases		256,000	Brookwood Farms 12105	Brookwood Farms 12105		64	\$0.79	\$50.70	4000	\$202,800.00	195	14 days	This item is packed 2/5# bags, 10# case	AWARD
1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 232 servings per case. Approximate Pack: 6-4 lbs. per case. Ship Lot: 600 cases	McCain Foods (MCF03761)	232,000	Cavendish Farms Praire Select 1/2 Oven Crinkle 14869 30216	Cavendish Farms Praire Select 1/2 Oven Crinkle 14869 30216	2% 10 days Net 30	243	\$0.1 3	\$32.37	955	\$30,904.69	70	10 business days		AWARD
1547	SERVINGS	Cheese Garlic French Bread, Whole Grain Reduced Fat - Frozen, made with whole grain wheat flour. Minimum serving wt = 4.3 oz, loaf shape. Made with 100% low moisture-part skim mozzarella cheese. Must meet 2 meat/meat alternates and 2 grains for the Child Nutrition program. Does not contain any alternative protein that counts towards the meat/meat alternate component. CN label required. Approximate Pack 60-4.5 oz servings per case. Ship Lot: 500 cases	Nardone Brother Baking Co. (60WGUM2)	84,000	Nardone Bros. 60WGUM2	Nardone Bros. 60WGUM2	1%, Net 10	60	\$0.90	\$54.13	1400	\$75,782.00	54 cases	7-10 business days		AWARD

Stock Number Column 1	Unit Column 2	Description Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Approved Brand & Manufacturer's Product Code) Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Estimated Servings for 2024-2025 Column 5 Items listed are Brands, MSCS v approved equal meets the bid spec tested and approve Sample Submis	Brand & Product Code Pre-Approved will accept an (1) as long as it cification and (2) d through MSCS's	Bidder's Brand & Product Code Column 7 ALL SHIP LOTS ARE IN CASES.	Bidder Terms Column 8	Estimated Servings Per Case Column 9	Cost Per Serving Column 10	Cost Per Case Column 11	Required Number of Cases Column 12	Extended Total Cost Column 13	Number of Cases per Pallet Column 14	Lead Time Column 15	Comment Column 16	Menu Planning Comments Column 17
1662	SERVINGS	Potatoes, Roasted, Diced, Seasoned, Redskin - Frozen, Ovenable contains zero grams of trans fat. Herbs and/or spices should be clearly visible. One serving portion equals 1/2 cup cooked vegetable. Approximate Pack 4/4lb bags per case. Ship Lot: 600 cases	McCain (MCFO4851)	123,000	McCain Foods MCF04851	MCF04851	2/10 NET 15	85	\$0.46	\$39.00	1447	\$56,435.29	120	10 days		AWARD
1663	SERVINGS	Grab and Go, Deli Meal, Turkey Ham - To contain turkey ham, cheese, and grain equivalents. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 oz Grain Equivalents for the Child Nutrition Program. Approximate pack: 48-3.93 oz servings per case. Ship Lot: 300 cases	Tasty Brands 10206	96,000	Tasty Brands 10206	Tasty Brands 10206	1%10, Net 20	48	\$1.59	\$76.04	2000	\$152,080.00	54	14 days	5000# minimum ship	AWARD
1669	SERVINGS	Sandwich, WG Ciabatta Pepper Jack Melt. CN label required. Must be 100% real cheese. Each serving to provide a minimum of 2.0 oz. grains and 2 oz meat/meat alternate per Child Nutrition Program standards. Approximate pack: 96/ 3.9 oz. servings/case. Ship Lot: 500 cases	ES Foods 16935	96,000	ES Foods 16935	ES Foods 16935	Net 30	96	\$1.03	\$98.62	1000	\$98,620.00	48	14 days	Min: 5000 lbs	AWARD
1898	SERVINGS	Pizza, Cheese, WG - Cheese pizza wedge made with 100% mozzarella cheese. Pizza should not contain any soy or soy isolates. Must meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition Program. Approximate servings per case is 96. Please indicate if packed differently. Ship Lot: 500 cases	The Max 77387 - 12617 Nardone 96WWED2	96,000	Nardone Bros. 96WWED2	Nardone Bros. 96WWED2	1%, Net 10	96	\$0.61	\$58.69	1000	\$58,690.00	48 cases	7-10 business days		AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS approved equal meets the bid spe tested and approve Sample Submis	will accept an (1) as long as it cification and (2) ed through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1900	SERVINGS	WG Cheese Calzone- Frozen. Made with 100% pure mozzarella cheese. Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 cases	Elated Plates 240B Albie's 81648-5	96,000	S&F Foods Inc. 212BC	S&F Foods Inc. 212BC	min. mix and mat	80	\$0.88	\$70.64	1200	\$84,768.00	64	35 days		AWARD
1901	SERVINGS	Pizza, Buffalo Chicken, WG - 6" Round Buffalo style White Chicken pizza lightly coated with buffalo sauce and made with 100% mozzarella cheese. Must meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition Program. Approximate pack: 60 servings per case. Ship Lot: 300 cases	Nardone - 625WBC2	60,000	Nardone Bros. 625WBC2	lone Bros. 625WI	1%, Net 10	60	\$0.97	\$58.19	1000	\$58,190.00	48 cases	7-10 business days		AWARD
1902	SERVINGS	Turkey Ham & Cheese Croissant - IW, frozen. Turkey ham and cheese on WG Croissant. Each sandwich to meet 1 oz M/MA and 1 oz grain equivalent for CN program. Approximately 120 servings per case. If packed differently, please indicate. Ship Lot: 400 cases	Tasty Brands 70073	120,000	Tasty Brands 70073	Tasty Brands 70073	1%10, Net 20	120	\$0.76	\$90.68	1000	\$90,680.00	60	14 days	5000# minimum ship	AWARD
1903	SERVINGS	Breakfast Calzone, IW - Frozen. Individually wrapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Packed approximately 60 per case. Please indicate if packed differently. Ship Lot: 500 cases	Albie's 843	60,000	Albie's 843	Albie's 843	Net 14 days	60	\$0.74	\$44.10	1000	\$44,100.00	80	12-16 business days	3 pallets/ 240 cases minimum	AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	2024-2025	Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - FROZEN-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS v approved equal meets the bid sper tested and approve Sample Submis	will accept an (1) as long as it cification and (2) ed through MSCS's	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1920	SERVINGS	Turkey Roast, Roasted and Sliced – All white meat turkey product. May have natural skin present, No rib cage meat. May contain no more than 10% flavoring solution, salt, turkey broth, or other flavorings. Finished product should be fully cooked and sliced to a minimum of 1 oz per slice. Packaged in air tight packaging. Each serving should be a minimum of an equivalent 2oz M/MA per the CN program. CN label or crediting state required. Approximately 140 servings per case. Please indicate if packing differently. Ship Lot: 400 cases		140,000	JennieO 230324	JennieO 230324	Net 30	140	\$0.90	\$125.37	1000	\$125,370.00	75 Cases	14 Days		AWARD
2000	SERVINGS	Macaroni and Cheese – Made with reduced fat, reduced natural American cheese. Reduced fat, reduced sodium cheese and whole grain rich macaroni noodles. Boil in Bag. Each serving should be a minimum of an equivalent 2oz M/MA and 1oz grains per the CN program. CN label or crediting state required. Approx. pack 6/ 5lb pouches per case. Ship Lot: 300 cases	Land O Lakes 43274 ES Foods 05915	80,000	ES Foods 05915	ES Foods 05915	Net 30	80	\$0.71	\$56.51	1000	\$56,510.00	60	14 days	Min: 5000 lbs	AWARD
2403	SERVINGS	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Smokehouse flavored. Made with all natural ingredients with no preservatives, nitrites, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. If packed dfferently, please indicate. Ship Lot: 200 cases	Jennie-O 207130	100,000	JennieO 136374	Jennie-O - 136374	Net 30	200	\$0.64	\$127.95	500	\$63,975.0 0	54 Cases	14 Days	New Product code due to pack size change from 400 to 200.	AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE BELOW ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT - RR2/SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Brands, MSCS approved equal meets the bid spe tested and appr MSCS's Sampl Proc	Pre-Approved will accept an (1) as long as it cification and (2) roved through a Submission	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21 EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26
1003	SERVINGS	Biscuite - Round, IOF, over neady, pre- portioned, pre-formed frozen dough with uniformity of size. Made with USDA commodity flour 100912. Must provide 2 oz or grain per USDA Child Mutriton Program Guidelines. Must be transfat free. Approximate Pack: 240-2.2 oz Biscuits per case. Ship Lot: 500 cases	Pillsbury 31524 Rich's 6063	600,000	Rich Products Corporation	2%10/ Net 11	Rich's 06063	Rich's 06063	100912	33.00	240	0.03	0.01	0.01	7.80	2.79	\$34.60	\$0. 02	\$37.39	2500	\$93 ,4 75.00	\$70.00	10 days	5,000 lb minimum	Approved brand AWARD
1007	SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Made with USDA commodity turkey (100124) or weator must specify USDA commodity code used and value per pound. Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. Made with coarse ground dark turkey meat. No more than 600mg sodium per serving. Approximate Pack: 96.3.0 oz. servings per case.	Jennie O 613620	201,600	Hormel	Net 30	Jennie-O - 613620	Jennie-0 - 613620	100124D	18.67	96	0.18	0.28	0.52	17.06	27.18	\$50.22	\$0.81	\$77.40	2100	\$162,540.00	80 Cases	14 Days		Approved brand AWARD
1009	SERVINGS	Cheeseburger Twins, Pre-packaged - Two char-gnilled mini cheeseburgers. Fully cocked burgers ack horger on a whole grain bun. Made with USDA Commodity beef (20054). No soy or protein additives as a meat alternate. A Must meet 2 oz. meat/meat alternate and 2.0. grain equivalent for the Child Nutrition Program. Packed 72/case. If packed differently, please indicate. Ship Lot: 200 cases	Don Lee QCB655 Bakercrafters 6692	345,600	GOODMAN FOOD PRODUCTS dba DON LEE FARMS	NET 30 DAYS	GOODMAN FOOD PRODUCTS dba DON LEE FARMS, QCB655	DON LEE FARMS, QCB655	100154	20.48 lbs.	72	0.21	0.64	0.83	14.98 lbs.	46.32	\$59.80	\$1.47	\$106.12	4800	\$509,376.00	36 CASES	10-14 BUSINESS DAYS	5,000 lbs. COMBINED MINIMUM FOR DELIVERY	Approved brand AWARD
1010	SERVINGS		Tasty Brands 70079 Bakecrafters 6709	450,000	6709	NET 14	BAKE CRAFTERS 6709	BAKE CRAFTERS 6709	110242	20.64	72	0.13	0.26	0.65	9.01	18.95	\$46.77	\$0.91	\$65.72	6250	\$410,750.00	48 cases per pallet	3 weeks		Approved brand AWARD
1014	SERVINGS	Chipotle Steak Crumbles- Ground beef crumbles with a low sodium chipotle flavored seasoning. Frozen. Made with USDA commodity beef 100154. No soy, vogetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat laternate for the child nutrition program. Packed approximately 4/5 to bags per case. Approximately 4/5 to bags case. Please indicate if packed differently. Ship Lot: 500 cases	Albies/Pieper's/Pie 23315	588,800	Albie's Food Products, LLC - Pieper's Proteins	Net 14 Days	Albie's/Pieper's 23315C	Albie's/Pieper's 23315C	100154	20.00	128	0.13	0.56	0.52	23.08	71.36	\$66.72	\$1.08	\$138.08	4600	\$635,168.00	\$80.00	21 days	4 pallets/ 320 cases minimum	Approved brand AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
1019	SERVINGS	100% Char-Brolled Beef Steak Burger With Natural Grill marks, fully cooked, IQF. 100 percent beef No LFB or Annonium Hydroide. Made with USDA Commodity beef (100154) or state commodity beef code used. Serving to provide a minimum of 2.5 ocs. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 160 - 3.0 oz. servings per case and please state pack size if different. Ship Lot: 300 cases		800,000	DON LEE FARMS	NET 30 DAYS	DON LEE FARMS/CNQ093003	DON LEE FARMS/CNQ093003	100154	30.00 LBS	160	0.22	0.69	0.38	35.57	109.98	\$61.50	\$1.07	\$171.48	5000	\$857,400.00	49 CASES	10-14 BUSINESS DAYS		Sample sent Approved brand AWARD
1071	SERVINGS	Chicken, Shredded - Sous Vide prepared chicken, lightly seasoned, low sodium frozen pulled/shredder pieces. Made with USDA commodity code used. Must have a blend of dark and white meat. All natural with no antibiotics. Serving to equal 20.2 m/ma for the CN program. CN labeled or product formulation heart required for crediting. Approximately 293 servings per case. Ship Lot: 300 cases	Comida Vida 470490	439,500	Food Solutions,	Net30 days for schools. Net15 for distributors.	Comida Vida 470490	Comida Vida 470490	100103	37.00	293	0.18	0.25	0.39	52.56	74.10	\$114.00	\$0.64	\$188.10	1500	\$282,150.00	\$40.00	15-19 Business Days	Price not valid through Dot Foods, a redistributor. Due to stated height vestrictions, mixed products within a pallet. Mixed products order is okay to meet minimum delivery. 1 pallet minimum for pickup.	Delivery will be direct to MSCS warehouse. AWARD
1076	SERVINGS		852724155630 Asian Food Solutions 72003	528,000		Net30 days for schools. Net15 for distributors.	Asian Food Solutions 72003	Asian Food Solutions 72003	100113	42.90	176	0.20	0.11	0.77	34.65	19.49	\$135.76	\$0.88	\$155.25	3000	\$465,750.00	\$32.00	15-19 Business Days	Price not valid through Dot Foods, a redistributor. Due to stated height restrictions, minimum delivery is 6 miked products within a pallet. Miked products order is okay to meet minimum deliver, 1 pallet minimum for pickup.	Delivery will be direct to MSCS warehouse. AWARD
1092	SERVINGS	Lasagna, Vegetarian, Whole Grain, Frozen. Ingredients consist of low fat Ricotta, USDA Commodity barred chease (102024) and ribbid shells. CN labeled to provide 2.0 oz. meat/meat latenative and 1.0z. grain equivalents for the Child Nutrition program. Approximate 110 servings) per case. Ship Lot: 300 cases	Tasty Brands 00801WG	200,000	Tasty Brands	1%10, net 20	Tasty Brands 00801WG	Tasty Brands 00801WG	110242	29.53	110	0.10	0.22	0.58	11.28	23.73	\$63.62	\$0.80	\$87.35	1818	\$158,818.18	\$60.00	14 days	5000# minimum ship	Approved brand AWARD
1093	SERVINGS	Pepperoni Pizza Mini Bagels, Whole Grain, Frozen. Made with Commodity barrel cheese 110242 and turkey pepperoni. CN labeled to provide 2.0 oz. medriment alternative, 2 oz. grain equivalents and 1/8 c. red-orage vegetable for the Child Nutrition program. Approximate 96 servings per case. Ship Lot: 300 cases		480,000	Tasty Brands	1%10, net 20	Tasty Brands 52223	Tasty Brands 52223	110242	28.08	96	0.06	0.13	0.78	6.00	12.62	\$75.07	\$0.91	\$87.69	5000	\$438,450.00	\$40.00	14 days	5000# minimum ship	Approved brand AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
1254	SERVINGS	Smoked and Seasoned Pulled Pork with Vinegar marinade Made with USDA commodity pork 100193. Fully cooked pit pork B8C made from commodity picnic boneless pork Noulder. Marinated in a Carolina Vinegar/semi dry sauce for mechanically processed or chopped. Packed in sealed containers. Ot Nabel or crediting statement must be provided to show serving standards. Approximate Pack: 8/Slb containers Ship Lot: 400 cases		768,000	Brookwood Farms		Brookwood Farms	12302	100193	40.00	256	0.25	0.35	0.25	64.00	89.88	\$63.00	\$0.60	\$152.88	3000	\$458,640.00	\$40.00	see ffs cut off schedule included in bid		Approved brand AWARD
1473	SERVINGS	Crinkle Cut Potatoes - 3/8 inch ready to be baked, frozen, containing zero grams of trans fat. Made with USDA commodity potatoes (100506). Each serving must meet 1/2 cup of vegetable. Approximately 323 servings per case. Approximate Pack: 6-4 lbs. per case.	McCain Foods (MCF03761)	1,392,000	Cavendish Farms	2/10 NET 30	Prairie Select 1/2" Oven Crinkle Fries 14869 30216	Prairie Select 1/2" Oven Crinkle Fries 14869 30217	100506	31.75	243	0.22	0.04	0.10	54.55	8.56	\$23.81	\$0.14	\$32.37	5728	\$185,415.36	\$70.00	10 business days	a one-stop minimum truckload	Approved brand AWARD
1547	SERVINGS	Cheese Garlic French Bread, Whole Grain Reduced Fat- Frozen, made with whole grain wheat flour. Made with USDA commodity cheese (110244). Minimum serving wt 4.3 or, loaf shape. Made with 100% low moisture-part shim mozarella cheese. Must meet 2 meat/meat alternates and 2 grains for the Child Nutrition program. Does not contain any alternative protein that counts towards the meat/meat alternate component. CN label required. Approximate Pack 60-4.5 or servings per case. Ship Lot: 500 cases	1 Co. (60WGUM2)	480,000	Nardone Bros.	1%, Net 10	Nardone Bros. 60WGUM2	Nardone Bros. 60WGUM2	110244	16.88	60	0.13	0.25	0.65	7.50	15.05	\$39.08	\$0.90	\$54.13	8000	\$433,040.00	54 cases			Approved brand AWARD
1662	SERVINGS	Potatoes, Roasted, Diced, Seasoned, Redskin - Made with USDA commodity potatoes (100506). Frozen, Ovenable contains zerg arms of trans fat. Herbs and/or spices should be clearly visible. One serving portion equals 1/2 cup cooked vegetable. Approximate Pack 4/4lb bags per case. Ship Lot: 600 cases	McCain (MCF04851)	869,200	McCain	2% 10/NET15	McCainMCF04851	McCain MCF04851	100506	16.00	85	0.24	0.04	0.42	20.00	3.14	\$35.86	\$0.4 6	\$39.00	10226	\$398,809.4 1	\$120.00	10 Days		Approved brand AWARD
1663	SERVINGS	Grab and Go, Dell Meal, Turkey Ham - To contain turkey ham, cheese, and grain equivalents. Made with USDA commodity cheese code 110242. Entire serving must meet a minimum of 2.0 meat/meat alternative and 2.0 or Grain Equivalents for the Child Nutrition Program. Approximate pack: 48-3.93 or servings per case. Ship Lot: 400 cases	Tasty Brands 10206	177,600	Tasty Brands	1%10, net 20	Tasty Brands 10206	Tasty Brands 10206	110242	13.56	48	0.05	0.10	1.49	2.23	4.69	\$71.35	\$1.59	\$76.04	3700	\$281,348.00	\$54.00	14 days	5000# minimum ship	Approved brand AWARD
1669	SERVINGS	Sandwich, WG Gabatta Pepper Jack Melt. Made with USDA commodity cheese code 110244. CN label required. Must be 100% real cheese. Each serving to provide a minimum of 2.0 oz. grains and 2 oz meat/meat alternate per Child Nutrition Program standards. Approximate pack: 96/3.9 oz. servings/case. Ship Lot: 500 cases		144,000	ES Foods	Net 30	ES Foods 16935	ES Foods 16935	110242	23.40	96	0.13	0.26	0.76	12.00	25.24	\$73.38	\$1.03	\$98.62	1500	\$147,930.00	\$48.00	14 days after rec'd of ord	Min: 5000 lbs (combined)	Approved brand AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
1898	SERVINGS	Pizza, Cheese, WG - Cheese pizza wedge. Made with 100% mozzarella cheese commodity code 11024. Pizza should not contain any soy or soy isolates. Must meet 2 c. meat/meat alternate and 2 oz grain equivalent for the Child Mustrition Program. Packed 96 per case. If packed differently, please indicate. Ship Lot: 500 cases	The Max 77387 - 12617 Nardone 96WWED2	1,100,000	Nardone Bros.	1%, Net 10	Nardone Bros. 96WWED2	Nardone Bros. 96WWED2	110244	30 lbs	96	0.13	0.25	0.36	12.00	24.08	\$34.61	\$0.61	\$58.69	11458	\$672,489.58	48 cases	7-10 business days		Approved brand AWARD
1900	SERVINGS	WG Cheese Calzone- Frozen. Made with USDA Commodity Mozarella cheese (11024) Buik acide whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Wurthion program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 cases	Elated Plates 2408 Albie's 81648-5	300,000	S&F Foods Inc.	7 pallet min	S&F Foods Inc. 212BC	S&F Foods Inc. 212BC	110244	25 lbs.	80	9.35 lbs.	0.12	0.00	9.35	18.76	\$0.00	\$0.12	\$18.7 6	3750	\$70,350.00	64 cases	35 days		Sample Sent Sample Approved Award
1901	SERVINGS	Pizza, Buffalo Chicken, WG - 6" Round Buffalo style White Chicken pizza lightly coated with buffalo savce and made with 100% USDA mozzarella cheese, commodity code 110244. Must meet 2 oz. meat/meat alternate and 2 cu. grain equivalent for the Child Nutrition Program. Approximate pack: 60 servings per case. Ship Lot: 300 cases	Nardone 625WBC2	300,000	Nardone Bros.	1%, Net 10	Nardone Bros. 625WBC2	ardone Bros. 625WBC	110244	16.88 lbs	60	0.09	0.19	0.78	5.62	11.28	\$46.91	\$0.97	\$58.19	5000	\$290,950.00	48 cases	7-10 business days		Approved Brand AWARD
1902	SERVINGS	Turkey Ham & Cheese Croissant - IW, frozen. Made with commodity cheese 110242 or specify cheese used. Turkey ham and cheese on WG Croissant. Each and wich to meet 3 or M/MA and 1 or grain equivalent for C Program. Approximately 120 servings per case. If packed differently, please indicate. Ship Lot: 400 cases	Tasty Brands 70073	450,000	Tasty Brands	1%10, net 20	Tasty Brands 70073	Tasty Brands 70073	110242	18.90	120	0.02	0.05	0.71	2.78	5.85	\$84.83	\$0.76	\$90.68	3750	\$340,050.00	\$60.00	14 days	5000# minimum ship	Approved Brand AWARD
1903	SERVINGS	Breakfast Calzone, IW - Frozen. Made with USDA Commodity cheese (110244). Individually wapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. marain equivalent for the child Nutrition program. Packed approximately 60 per case. Please indicate if packed differently. Ship Lot: 500 cases	Albie's 843	150,000	Albie's Food Products, LLC	Net 14 Days	Albie's 843	Albie's 843	110244	11.25	60	0.03	0.06	0.67	1.82	3.65	\$40.45	\$0.73	\$44.10	2500	\$110,250.00	\$80.00	12-16 business days	3 pallets/ 240 cases minimum	Approved brand AWARD
1920	SERVINGS	Turkey Roast, Roasted and Sliced – Made with USDA commodity turkey (100124). All white meat turkey product. May have natural skin present, No rib cage meat. May contain no more than 10% Raovrings. Finished product should be fully cooked and sliced to a minimum of 1 oz per slice. Packaged in air tight packaging, Each serving should be a minimum of an equivalent Zor crediting state required. Ship Lot: 400 cases		600,000	Hormel	Net 30	Jennie-0 - 230324	JOTS 230324	100124W	25.58	140	0.18	0.29	0.57	25.50	40.72	\$80.46	\$0.87	\$121.18	4286	\$519,342.86	72 Cases	14 Days		Approved brand AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024 - 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
2000	SERVINGS		Land O Lakes 43274 ES Foods 05915	300,000	ES Foods	NET 30	ES Foods 05915	ES Foods 05915	110242	30.00	80	0.08	0.17	0.53	6.65	13.99	\$42.52	\$0.71	\$56.51	3750	\$211,912.50	\$60.00	14 days after rec'd of ord	Min: 5000 lbs (combined)	Approved brand AWARD
2403	SERVINGS	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Made with USDA commodity turkey (101024). Smokehouse flavored. Made with all natural ingredients with no preservatives, nitrates, nitrates or soy fillers. Clean labeled product. Must provide 1 an V/MA for the CN program. Case to contain approximately 400 servings. If packed differently, please indicate. Ship Lot: 200 cases		300,000	Hormel	Net 30	Jennie-O - 136374	JOTS 136374	100124W	15.00	200	0.08	0.13	0.51	15.87	25.35	\$102.60	\$0.64	\$127.95	1500	\$191,925.00	54 Cases	14 Days	New Product code due to pack size change from 400 to 200.	Award

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024-2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving		Value of Donated Commodity per Case		Commodity Value Plus Processing Fee per Serving		Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submission Tab Cevita From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. To Bio The BELOW TEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERCIAL EQUIVALENT #RE/SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre-Appr accept an approved equal bid specification and (2 through MSCS's Sample	1) as long as it meets the tested and approved	Column 7 ALL SHIP LOTS ARE IN CASES.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21 EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26
1053	SERVINGS		Bongard v. (101321) Churchfield Trading (13364) Schreiber (3338472) Land O' Lakes (46255) CP US Foods/School Choice (13364)	2,000,000	Land O' Lakes	Minimum Delivery 5,000 pounds per invoice. Payment terms: Net 30	Land O' Lakes 46016	Land O' Lakes 46016	110242	20 lbs	640	0.02	0.04	0.03	13.00	27.35	\$18.80	0.07	\$46.15	3125	\$144,218.75	\$110.00	6 business days		Sample sent Sample approved AWARD Price/serv .0721
1056	SERVINGS	Made with USDA commodity cheese (110242). Pasteurized, natural cheese made from cow's milit. 1 oz. cheese to provide 1 meat/meat alternate for child outline programs.	Land O Lakes 41485 Bongards 771021	1,200,000	Land O' Lakes	Minimum Delivery 5,000 pounds per invoice. Payment terms: Net 30	Land O' Lakes 41485	Land O' Lakes 41485	110242.00	20 lbs	320	0.06	0.13	0.04	20.00	42.07	\$14.24	0.18	\$56.31	3750	\$211,162.50	\$68.00	6 business days		Approved brand AWARD Price/serv .1759

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - COOLER-SRV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Brands, MSC approved equa meets the bid sp tested and ap	Column 6 re Pre-Approved S will accept an al (1) as long as it pecification and (2) proved through ubmission Process.		Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1053	SERVINGS	Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 6-5 pound blocks. Packed 960 1/2 oz. clicsc/case. Serving = 1 slice	Bongard's (101321) Churchfield Trading (13364) Schreiber (3338472) Land O' Lakes (46255) CP US Foods/School Choice (13364)	768,000	Land O' Lakes	Land O' Lakes 46016	Minimum Delivery 5,000 pounds per invoice. Payment terms: Net 30	640	\$0.07	\$46.15	1200.00	\$55,380.00	110	6 business days		AWARD
1056	SERVINGS		Land O Lakes 41485 Bongards 771021	300,000	Land O' Lakes	Land O' Lakes 41485	Minimum D	320	\$0.18	\$56.31	937.50	\$52,790.63	68	6 business days		AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Serving 2024 - 2025	Z ^S Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving		Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving		Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column	1 Column 2	Column 3 Bid Submissions That Deviate From What is Being Requested In The Specifications Relow Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE TITM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATION ON TAB COMMERCIAL EQUIVA. ALL OR NONE I	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are MSCS will accept long as it meets I (2) tested and ap	Column 6 e Pre-Approved Brands, an approved equal (1) as the bid specification and pproved through MSCS's ubmission Process.	ALL SHIP	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21 EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT COMMERCIAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26
1063	SERVINGS	Chicken Breast Tillet, Breaded, Fully cooked, IGF, Mude with USDA commonly chicken (1000)30, Minimum serving wt. 3 oz. Dreaded, whole muscle fillet breaded with whole grain wheat flow: Serving to provide an line. / 0 2 oz. meas/meat alternate and 3 oz. grain equivalent for the Child Nutriton program. Approximate Pack 120 servings per case. Ship Lot: 400 cases	No Approved Brands	700,000	TYSON	5,000 lbs per d		TYSON 10703000928	100103	30.00	120	0.26	0.36	0.70	30.95	43.64	\$84.00	\$1.06	\$127.64	5833	\$744,566.67	40	14 days		Sample sent Sample passed Add as approved brand Award
1074	SERVINGS	Chicken Breast Filet, Breaded, Spicy, IQF - Made with USDA commodity chicken (100103). Fully cooked, IQF, whole musck, breading to be made from wholes grain flour. Must provide 2-oz. meat/meat alternate and 1-oz. grain equivalent for child nutrition multi aptern. Chi Jaka and aptern. Approximate Rade. 120-3.0 oz. servings per case. Ship Lot: 300 cases		400,000	TYSON	5,000 lbs per d	TYSON 10703100928	TYSON 10703100928	100103	30.00	120	0.26	0.36	0.73	30.95	43.64	\$87.00	\$1.09	\$130.64	3333	\$435,466.67	\$48.00	14 days		Sample sent Sample passed Add as approved brand Award
1665	SERVINGS	Popcon Chicken, Breaded - Fully cooked, IGF, Ibreaded chicken pieces. Made with USDA commodity chicken [10013]. Breaded with White Grain for una ram by the link fired in vegetable oil; zero adder trans fat. Pieces to be made with all dark matc. Due serving guida approx. 10-12 pieces and the service of the service of the service programme of zero methylenes at least programme of the service of zero methylenes at least programme of the service of zero methylenes at least programme of required. Approximate pack 1004 e.o. servings per case. This the will only receive the diverted dark mets from the above white meat processing. If the ten you choose to bid contains white means, that cost needs to be factored into the processing fee.	No Approved Brands	1,000,000	TYSON	5,000 lbs per d	TYSON 10000060843	TYSON 1000066843	100103W	30.25	113	0.31	0.44	0.45	35.57	50.15	\$50.88	\$0.89	\$101.03	8850	\$894,070.80	\$40.00	14 days		Sample sent Sample passed Add as approved brand Award

Stock Number Column 1	Unit Column 2	Description Column 3	Approved Brand & Manufacturer's Product Code) Column 4	Estimated Servings for 2024-2025 Column 5	Manufacturer's Brand & Product Code Column 6	Bidder's Brand & Product Code Column 7	Bidder Terms Column 8	Estimated Servings Per Case Column 9	Cost Per Serving Column 10	Cost Per Case Column 11	Required Number of Cases Column 12	Extended Total Cost Column 13	Number of Cases per Pallet Column 14	Lead Time Column 15	Comments Column 16	Menu Planning Comments Column 17
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIV. ALL OR NONE I	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre-Approve accept an approved equal (the bid specification and (2) through MSCS's Sample St	ed Brands, MSCS will .) as long as it meets tested and approved	ALL SHIP LOTS ARE IN CASES.										
1063	SERVINGS	Chicken Breast Filet, Breaded, Fully cooked, IQF. Made with all breast meat chicken. Minimum serving wt. 3 oz. breaded, whole muscle fillet breaded with whole grain wheat flour. Serving to provide a min. of 2.0 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Approximate Pack 120 servings per case. Ship Lot: 500 cases	No Approved Brands	400,000	TYSON 1070300092	TYSON 107030009	5,000 lbs per dr	120	\$1.06	\$127.64	3333	\$425,466.67	40	14 days		AWARD
1074	SERVINGS	Chicken Breast Filet, Breaded, Spicy - Made with chicken breast meat with spicy seasoning. Fully cooked, IQF, whole muscle, breading to be made from whole grain flour. Must provide 2oz. meat/meat alternate and 1 oz. grain equivalent for child nutrition meal pattern. CN label required. Approximate Pack: 57-3.0 oz. servings per case. Ship Lot: 300 cases		200,000	TYSON 10703100928	TYSON 10703100928	5,000 lbs per drop location	120	\$1.09	\$130.64	1667	\$217,733.33	48	14 days		AWARD
1665	SERVINGS	Popcorn Chicken, Breaded - Fully cooked, IQF, breaded chicken pieces to be made from all dark meat. Breaded with Whole Grain flour and may be flash fried in vegetable oil, zero added trans fat. One serving equals approx. 10-12 pieces of bite sized chicken, Each serving to provide a minimum of 20z meat/meat alternative and 1 grain for the Child Nutrition Meal Pattern Requirements. CN label required. Approximate pack 108-4 oz. servings per case. This item will only receive the diverted dark meat from the above white meat processing. If the item you choose to bid contains white meat, that cost needs to be factored into the processing fee. Ship Lot: 500 cases	No Approved Brands	300,000	TYSON 1000006084	TYSON 100000608	5,000 lbs per dr	113	\$0.89	\$101.03	2655	\$268,221.24	40	14 days		AWARD

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Serving 2024 - 2025	s Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving		Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case		Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response TO BID THE ABOVE ITEM YOU MUST ALSO BID THE	CURRENT AWARDS. ALL PACK SIZES WILL BE	Items listed are Pr MSCS will accept a as long as it meets	re-Approved Brands, n approved equal (1 the bid specification d approved through	ALL SHIP	Column 8 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 23	Column 24	Column 25	Column 26
1072		Chicken Siller, Breakfast-Fully cooked, UZ, whole muscle not formed chicken meak; breading bo be made from whole grain flour. J Siller should provide a minimum of 1 oz meat/meat alternative for child Nutrition meal pattern. Chi Lable or crediting statement required. Ingredients to be excluded from protect label: textured wegtable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein.	Gold Creek 792426	768,000	Gold Creek	net 30	Gold Creek 792426	Gold Creek 792426	100103	32.00	256	0.13	0.18	0.25	32.97	46.48	\$63.20	\$0.43	\$109.68	3,000	\$329,040.00	\$49.00	21 days		Approved brand AWARD
1078		Chicken Tenders, Whole Muscle, Breaded - Fully cooked, 107, Trans far fere. Breaded with Whole Grains. Approximately Stenders - 3 serving with each tender telepic no less than 1 o.e. Must provide at least 2 oz. meat/meat aliennate for child nutrition meal pattern Approximate Pack: 76-4.2 oz servings per case. Ship Lot: 400 cases	Gold Creek - 792441	565,000	Gold Creek	net 30		Gold Creek 792441	100103	32.00	113	0.28	0.40	0.54	31.68	44.67	\$60.48	\$0.93	\$105.15	5,000	\$525,750.00	\$49.00	21 days		Approved brand AWARD
1087	SERVINGS	Roasted Chicken Portions, - 10/r, Fully cooked, oven roasted thigh and drumstick, whole pirces. No MSG. Muld From USA commonly code 60003b. No TV-S Evring must be equivalent to 2 or. M/MA per the Child Mutrition program. Approximate Paic: Prease indicate servings per case. Serving = 1 migh or 1 drumstick. Ship Lot: 500 cases	Gold Creek 791890	552,000	Gold Creek	net 30		Gold Creek 791890	100103	32.00	138	0.35	0.49	0.48	47.58	67.08	\$65.92	\$0.96	\$133.00	4,000	\$532,000.00	\$49.00	21 days		Approved brand AWARD
1088		Breaded Chicken Portions, - 10F, fully cooked, oven ready, thigh and drumstick, whole pieces, NO MSG. Breading must be made with Whole Grain Four. Made from USDA commodity code 100103. Serving must be equivalent to 2 oz. MMA ger tec full Nutrition oprogram. Chicken may be flash fried in vegetable/canola ol. Approximate Pack: Piece Indicate servings per case. Serving = 1 thigh or 1 drumstick. No TVP added. Ship Lot: 500 cases	Gold Creek 791880	560,000	Gold Creek	net 30		Gold Creek 791880	100103	32.00	112	0.35	0.49	0.58	38.71	54.58	\$64.96	\$1.07	\$119.54	5,000	\$597,700.00	\$49.00	21 days		Approved brand AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIV. ALL OR NONE	Column 4 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 5 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 6 Items listed are Pre MSCS will accept an as long as it meets t and (2) tested and MSCS's Sample Su	approved equal (1) he bid specification approved through	Column 8 ALL SHIP LOTS ARE IN CASES.	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1072	SERVINGS	Chicken Slider, Breakfast- Fully cooked, IQF, whole muscle not formed chicken meat, breading to be made from whole grain flour. 1 Slider should provide a minimum of 1 oz meat/meat alternative for Child Nutrition meal pattern. CN Lable or crediting statement required. Ingredients to be excluded from product label: textured vegetable protein, isolated soy protein, hydrolyzed corn protein, hydrolyzed soy protein. Ship Lot: 250 cases		256,000	Gold Creek 792426	Gold Creek 792426	net 30	256	\$0.43	\$109.68	1000	\$109,680.00	49	21 days		AWARD
1078	SERVINGS	Chicken Tenders, Whole Muscle, Breaded - Fully cooked, IQF, Trans fat free. Breaded with Whole Grains. Approximately 3 tenders = 1 serving with each tender being no less than 1 oz. Must provide at least 2oz. meat/meat alternate for child nutrition meal pattern. Approximate Pack: 76-4.2 oz servings per case. Ship Lot: 500 cases	Gold Creek - 792441	113,000	Gold Creek 792441	Gold Creek 792441	net 30	113	\$0.93	\$105.15	1000	\$105,150.00	49	21 days		AWARD
1087	SERVINGS	Roasted Chicken Portions, - IQF, Fully cooked, oven roasted thigh and drumstick, whole pieces. No MSG. Made from USDA commodity code 100103. No TVP. Serving must be equivalent to 2 oz. M/MA per the Child Nutrition program. Approximate Pack: Please indicate servings per case. Serving = 1 thigh or 1 drumstick Ship Lot: 500 cases	Gold Creek 791890	207,000	Gold Creek 791890	Gold Creek 791890	net 30	138	\$0.96	\$133.00	819	\$108,905.80	49	21 days		AWARD

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIV. ALL OR NONE	Column 4 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 5 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 6 Items listed are Pre MSCS will accept an as long as it meets t and (2) tested and MSCS's Sample Su	approved equal (1) he bid specification approved through		Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
1088	SERVINGS	Breaded Chicken Portions, - IQF, fully cooked, oven ready, thigh and drumstick, whole pieces, NO MSG. Breading must be made with Whole Grain Flour. Made from USDA commodity code 100103. Serving must be equivalent to 2 oz. M/MA per the Child Nutrition program. Chicken may be flash fried in vegetable/canola oil. Approximate Pack: Please indicate servings per case. Serving = 1 thigh or 1 drumstick. No TVP added. Ship Lot: 500 cases	Gold Creek 791880	168,000	Gold Creek 791880	Gold Creek 791880	net 30	112	\$1.07	\$119.54	1500	\$179,310.00	49	21 days		AWARD

Memphis-Shelby County Schools (MSCS) 2024-2025 Commodity Processing and Commercial Equivalent Bid Commodity - Dry By the Case

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024- 2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case		Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comment	Menu Planning Comments
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIV. ALL OR NONE	FOLLOWING SPECIFICATIONS REFLECT CURRENT	Column 5 Items listed are Brands, MSCS v approved equal it meets the bid and (2) tested a through MSC Submission	will accept an (1) as long as specification and approved CS's Sample	ALL SHIP LOTS ARE	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21 EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26
1510	SERVINGS	Sauce, Marinara - Seasonado, canned marinara made with tomato sauce, titalian spices, and diced tomatos. Made with USDA commodity tomato paste for bulk processing (100332). Packet to USDA Grade B standards or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. Packet 6-#10 cans per case. Nust provide crediting statement. Approximate Pack: 6 - #10 cans/case.	Red Gold RPKNA99	700,000	Red Gold			Red Pack RPKNA99	100332	39.40	450	0.02	0.02	0.07	7.52	7.13	\$32.47	\$0.09	\$39.60	1555.56	\$61,600.00	\$56.00	10 business days	Pricing provided is for a LTL (10000 - 20,000 pounds). Truck (can be a mixed load of awarded products, hipped in full pallet quantities.	

Memphis-Shelby County Schools (MSCS) 2024-2025 Commodity Processing and Commercial Equivalent Bid Commercial - Dry By the Case

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2024-2025	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Bidder Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - DRY CASE	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- MSCS will accept an as long as it meets th and (2) tested and MSCS's Sample Sul	approved equal (1) ne bid specification approved through	IN CASES.										
1510	SERVINGS	Sauce, Marinara - Seasoned, canned marinara made with tomato sauce, italian spices, and diced tomatoes. Packed to USDA Grade B standards or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. Packed 6-#10 cans per case. Must provide crediting statement. Approximate Pack: 6 - #10 cans/case. Ship Lot: 952 cases	Red Gold RPKNA99	200,000	Red Pack RPKNA99	Red Pack RPKNA99	Net 30	450	\$0.09	\$39.60	444.44	\$ 17,600.00	56	10 Business Days	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	AWARD

Unit	Description	Approved Brand & Product Codes	Estimated Servings 2024-2025	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Number of Cases per Pallet	Lead Time	Comments	Menu Planning Comments
Column 2	Column 3 Bid Submissions That Devider From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response. O BID The ABOVE TEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALEN'I DOATBO ON TAB COMMERCIAL EQUIVALEN' TO/SY SIV	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- MSCS will accept an a long as it meets the b (2) tested and approv Sample Submis	pproved equal (1) as and specification and wed through MSCS's		Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21 EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSION FEE PER UNIT + COMMERICAL PRICE PER UNIT	Column 22	Column 23	Column 24	Column 25	Column 26
SERVINGS	Fruit Cup, Peach, Diced - Diced Peaches to use commodity code (100223) Peaches in 100% Juice. No added sugars. Smart Snack approved. Nuxt meet 1/2 cup fruit serving for Child Nutrition Programs. Shelf stable for 1 year. No artificial colors or flavors. Approximate pack size: 72/case Ship Lot: 400 cases	No Approved Brands	504,000	NationI Food Group	NET 30	Zee Zees 1740	Zee Zees 1740	100220	23.00	72	0.28	0.30	0.29	20.25	21.68	\$21.10	0.59	\$42.78	7000	\$299,460.00	\$80.00	30 days	Samples and Nutritionals sent via required sample process for brand approval. Truckload mimum, 1568 cases per truck. 30 day lead time.	
SERVINGS	Fruit Cup, Pear, Diced - Diced Pears to use commodity code (100225), Packed In 100% luice. No added sugars. Smart Snack approved. Must meet 1/2 cup fruit serving for Child Nurrhiton Programs. She't stable for 1 year. No artificial colors or flavors. Approximate pack size: 72/case Ship Lot: 400	Zee Zee: 1780	504,000	National Food Group	Net 30 Payment	Zee Zees 1780	Zee Zees 1780	100225	23.00	72	0.28	0.31	0.29	20.25	22.26	\$21.10	0.60	\$43.36	7000	\$303,520.00	\$80.00	30 days	Truckload mimum, 1568 cases per truck. 30 day lead time. Previous years diversions still available in account currently	Approved brand AWARD
SERVINGS	Ketchup, Tomato - Made with USDA commodity tomato paste for bulk processing (10032). Individual 9 gram gackage. 1000 Pkg/case, Made with Sugar and to exclude high fructose corn syrup as an ingredient, low sodium. Serving size 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 cases	Red Gold Redyl9G01	5,500,000	Red Gold	Net 30	Red Gold REDYL9G	Red Gold REDYL9G	100332	19.84	1000	0.00	0.00	0.02	4.81	4.56	\$21.04	0.02	\$25.60	5500	\$140,800.00	\$90.00	10 Business days	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	Approved brand AWARD

Stock Number Column 1	Unit Column 2	Description Column 3	Approved Brand & Manufacturer's Product Code) Column 4	Estimated Servings for 2024-2025 Column 5	Manufacturer's Brand & Product Code Column 6	Bidder's Brand & Product Code Column 7	Bidder Terms Column 8	Estimated Servings Per Case Column 9	Cost Per Serving Column 10	Cost Per Case	Required Number of Cases Column 12	Extended Total Cost	Number of Cases per Pallet Column 14	Lead Time	Lead Time	Menu Planning Comments Column 17
		Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMODITY EQUIVALENT -DRY-SRV	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- approved equal (1) as loi	Approved Brands, MSCS will accept an g as it meets the bid specification and (2) ough MSCS's Sample Submission Process.			country	Continue			Comming 2	COUNTY	Columnas	Committee	Contract
1145	SERVINGS	Fruit Cup, Peach, Diced - Diced peaches Packed in 100% Juice. No added sugars. Smart Snack approved. Must meet 1/2 cup fruit serving for Child Nutrition Programs. Shelf stable for 1 year. No artificial colors or flavors. Approximate pack size: 72/case Ship Lot: 400 cases	No Approved Brands	100,800	Zee Zee 1740	Zee Zee 1740	Net 30 Payment	72	\$0.59	\$42.78	\$1,400.00	\$59,892.00	80.00	30 days	Samples amd Nutritionals sent via required sample process for brand approval. Truckload mimum, 1568 cases per truck. 30 day lead time.	AWARD
1174	SERVINGS	Fruit Cup, Pear, Diced - Diced Pears to use commodity code (100225). Packed in 100% Juice. No added sugars. Smart Snack approved. Must meet 1/2 cup fruit serving for Child Nutrition Programs. Shelf stable for 1 year. No artificial colors or flavors. Approximate pack size: 72/case Ship Lot: 400 cases	Zee Zees 1780	100,800	Zee Zee 1780	Zee Zee 1780	Net 30 Payment	72	\$0.60	\$43.36	\$1,400.00	\$60,704.00	80.00	30 days	Truckload mimum, 1568 cases per truck. 30 day lead time.	AWARD
1201	SERVINGS	Ketchup, Tomato - Individual 9 gram package, 1000 Pkgs/case, Made with Sugar and to exclude high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 cases	Red Gold REDYL9G01	800,000	Red Gold REDYL9G	Red Gold REDYL9G	Net 30	1000	\$0.0 3	\$25.60	\$800.00	\$20,480.00	90.00	10 Business Days	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	AWARD